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1. oo s ot spilk Teq far 1x8=8

Answer the following as directed :

(@ @FEs SYAfSRe g9@<s 9T ‘macro’
AR I PR ?

Name the economist who propounded
the word ‘macro’ for the first time.

22P/1397 ( Turn Quer)



(b)

(c)

(2)

“HeR O (R WY qE6e O S
Rorm o/ == 9 SREE GiRgsl s /G

o Y GRI R @R SR @i
SeREIRfRE ?

“National income is the part of the
objective income of the community,
including, of course, income derived
from abroad which can be measured
in money.” Who made this statement?

The Purchasing Power of Money #%4+q
CRE (@ ?

Who is the author of the book,
The Purchasing Power of Money?

(d) TErPRET TS AYRT W& B9

22P/1397

During inflation, the general price level
(i) 3 “/increases

(i) M “¥/decreases

(iii)- CPHICT ACF /remains constant

(iv) €T <518 7 /None of the above
(= Tt <1fs Sfean)

(Choose the correct answer)

( Continued )

(e)
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(3)

Ol qUFRITeT 199 =E ?
Which is not a cause of inflation?
() IfETe I I
Increase in personal expenditure
(i) ' 4
Black money
(iii) S 3R
Increase in import
(iv) <9 3F
Reduction of tax
(% TeacH 16 Sferean)
(Choose the correct answer)
AREF oA = 5 AW (E) = (S I (C) +

Rt @@ (1)
Aggregate demand = E = C + ]
i) o=
Correct
(i) =rgA
Incorrect
(o= T A1 Sferean)

(Choose the correct answer)

( Turn Quer )



(4)

(g9 LM @R ¥ IR 2a |

The reason for shifting in the LM curve
is

(<M 37% 7@ 3¥1)
(Fill in the blank)
(h) ORE TS
In liquidity trap
(i) T3 29 =S Tw =

interest rates are very high
(i) T =9 =S =
interest rates are very low
(e Taaeh! 1M Sferean)

(Choose the correct answer)

2. wre e R siReR eome oy Gre R
(2ifSChr 150 *a foes) : 4x4=16

Write short notes on any four of the following
(within 150 words each) :

(@) IfETe SR T FiEsre T g

Personal income and

Personal
disposable income
(b) T-TCAN TafS
Value-added method
22P/1397 ( Continued )

(5)

(c) e P Apex afdn

Credit creation of commercial bank

(@) TErfifes Frger Sim e aceRE s

Monetary policy as anti-inflationary
measures

(e) '3 Iw@ [
Say’s law of market

oo 2pPTRe Ted i (2T 500 e foewe) :

Answer the following questions (within 500 words
each) :

3. (@ IR T WRAT JLREEET Ao A
crgedt | fgere SRWEE /T SiRere
SR TIPS A 40 | 8+4=12
Distinguish between micro- and macro-
economics. Explain the transition from
microeconomics to macroeconomics.

4T / Or

(b) BT SAREET AR W 91 AR
weRem ReraE Maemeryz & &2 7+5=12

Explain the scope of macroeconomics.
What are the limitations of - macro-
economic analysis?

22P/1397 { Turn Over )




4.
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(6)

(@) wIOE SRR RfSw (AR J=0 F4@ 1T =T
T (GDP) “5iFl TR WE S 7 AwS
AT 4T |

Explain the various concepts of
national income. Discuss the income
and expenditure methods of computing
GDP.

4T /Or

(b)  ©RGI Y87 Ao SRE v@R [ WE
01

Explain the circular flow of income in
four-sector economy.

(@ TR ARET TG AW EWGE TEfe A
01

Explain the cash transaction approach
of quantity theory of money.

9341 /Or

(b) (TR WA TIRWR ©F S 47 |

Discuss Keynes’ theory of demand for
money.

5+6=11

11

11

11

( Continued )

6. (a)

(b)

7. (a)

(b)

22P—2000/1397

(7))
Tres 3 2 DRSS S IS R
T FRPTIR 00T T | 3+8=11

What is inflation? Explain the main
causes of demand-pull and cost-push
inflation.

4T / Or
At v e B g Afven ve Rien

TE, 0 T | 2+9=11

What is meant by trade cycle? Explain
the various stages of trade cycle.

(T2 TACs ©gch! IR0 40 11
Explain Keynesian theory of
employment.

wg<qr /Or
IS-LM (¥ RE® AR SF=el i

40| 4+4+3=11
Explain the general equilibrium with
the help of IS-LM curve.
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